Exercises: Tutorial 18.12.2015

1. Given wave-functions (states) of two-electron system in jj coupling scheme:
‘31/2d3/2 J = 2>
‘ Pajpfspid = 3>
re-write them in the LS-coupling scheme.

2. By using the 6-j Wigner’s symbols express the wave-functions of the state | INNC N J> in
terms of the wave-functions, correspondingto the following coupling schemes:

(it h+Us+)) U +1)+)s

3. Let §; = 0;/2 are operators of spin (s=1/2) projection on axes x,y,z of the coordinate
system S. Find the operators S; of the spin projection on the axes X, y, Z in new coordinate
system S which is obtained from S by rotation around y-axis by angle £.
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